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Assume Bob bought a 10-year inflation-protected bond with a fixed annual real rate of 1.5% and

" Eric bought a 10-year bond without inflation protection with a nominal annual return of 4.2%. If

inflation over the 10-year period averaged 3 percent, who earned a higher real return?
A) Bob.

B) Eric

C) Both earned the same real return.

D) Neither earned a positive real return.

Other thing being equal, if terrorist attacks increase the desire for precautionary saving, then the
real interest rate will and the equilibrium quantity of saving and investment will '
A) increase; increase
B) decrease; decrease
C) increase; decrease
D) decrease; increase

The money demand curve relates to the

A) the aggregate quantity of money demanded; aggregate demand
B) aggregate demand; nominal interest rate

C) the aggregate quantity of money demanded; price level

D) the aggregate quantity of money demanded; nominal interest rate

Which of the following will shift the aggregate demand curve to the left?
A) Income taxes are raised.

B) The government increases spending on education.

C) Consumers become optimistic about the future.

D) A new technology is developed that will increase profits.

Other thing being equal, an increase in China real GDP will the demand for dollars in the
foreign exchange market and __ the equilibrium China RMB/U.S. dollar exchange rate.

A) increase; increase

B) increase; decrease

C) decrease; decrease

D) decrease; increase

If the market equilibrium value of the nominal exchange rate equals 0.10 U.S. dollars per yen, but

the yen is officially fixed at 0.12 U.S. dollars per yen, then the yen exchange rate is and to
maintain this exchange rate there will be in the government's stock of international
reserves.

A) undervalued; a net decline
B) undervalued; a net increase
C) overvalued; a net increase
D) overvalued; a net decline

Which of the following best describes the "interest rate effect"?

A) An increase in the price level lowers the interest rate and chokes off government spending.

B) An increase in the price level raises the interest rate and chokes off government spending.

C) An increase in the price level lowers the interest rate and chokes off investment and
consumption spending.

D) An increase in the price level raises the interest rate and chokes off investment and
consumption spending.
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8. Economic analysis of comparative advantage shows that a nation should specialize in the
production of goods for which it has a comparative advantage. But in the real world, most
production in a nation is not 100 percent specialized. Why don't nations specialize 100 percent in
reality? .

A) Since tastes differ, some products such as autos are produced in many different nations.

B) Typically, as specialization advances, there are increasing opportunity costs which make 100
percent spec1allzat10n too costly for exportation.

C) Some services such as medical services, would be difficult to export to other natlons

D) All of these explam why nations do not specialize completely.

9. The demand for loanable funds has a slope because the lower the interest rate, the
number of investment projects are profitable, and the the quantity of loanable
funds demanded.
A) positive; lesser; lesser
B) negative; lesser; greater
C) negative; greater; greater.
D) negative; greater; lesser.

10. Which of the following summarizes the preSIdent's and Congress' role in conducting monetary
policy?
A) Congress and the president do not play a role in conducting monetary policy.
B) Both the president and Congress determine the level of funds that the Fed needs to operate, and
_ thereby influence policy. '
C) Congress directs the FOMC on what its interest rate targets should be.
D) The president submits input to the chairman and the FOMC votes on it.
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~ 1. In a country that operates according to Okun's law, real GDP is $9.6 trillion, the actual rate of

unemployment is 8 percent, and the natural unemployment rate is 6 percent. What is potent1al GDP
in the country?

2. Assume the money supply in Wonderland is 1,000, and currency held by the public equals bank
reserves. The desired reserve/deposit ratio is 0.25. Bank reserves equal

= pHE 124 HETRBERYEHBN -

In U.S.,, the federal budget exhibited a $128.7 billion surplus in 2001 but decreased to a deficit of
$157.8 billion in 2002. Some economists argued the deficit was due to the Bush 2001 tax cuts. But
others argued that the deficit was due to the recession suffered in 2001. Evaluate the validity of the

two arguments.
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() IEEHTF (Adam Smith)f " HE—EER FHIF(invisible hand) |, ZRFFHHLTT
IBIREHSERENE - By HUACR R DU SE 2R P T (perfectly competitive

markets)SRe2RETE BT A HTHGHVER - BT 2R BN CHRTMERNE

AER? BB 2R HE RSB BT mSimut ?

(b) AT @ REMFAHBUIEAEHTE - BRTSBTELRE - [FHhE
8 (market failure)?ATs5 KB T EULE TN EH ?

(c) WRMBETEN - WEBUNEZEETSEEH - WA E BRERCR
(Laissez-faire policy) - 55— J7MH » MRTBARET » BFRIFIBNA - KF
S ERRTEEEEEN - MEBUTE Fl(government regulation)fy7T
B SOREE] BUE S B 4754 4 (economic regulation) B 7 BEETE &l (anti-
trust regulation) » 547 AIEREAE MAEE HIHY S - '

(d) BEABUNE HI ] SEG IR AR (efficiency) B{R A F (equity) - {HR 24

86
27

YA

AT AE G HERBUR < B (government failure) - AIFFEUFREE ? WRBUFEAIR 4 o
. [

27 IEEEREHTSNEEES?

2. (a) ~Ff(public goods)BFtH B (common resources)E—IRRA EHIAT ZEHE

(property rights)fAE B S E(—EEERIRVEERER) Z TAELENR - 58
DASE ST (F] LA B AR T (R B T 200 A B AT B ASE ISR LA SER 7
(b) HERANHIANTHEEFIRETIER » ERBIFIEBARREAILN -

/7

BURF AR E —B A AR 7 SBAAS 25531 (cost-benefit analysis) /) VO

EETTOMT -

() BIFHNELREEELAEER  EEGRIEEERIER » 2R
BREVHIEEER  MERRRELERE - BT EEFRERER - REE
FH AR S 5341 (cost-effectiveness approach) RS T A EEESHBFNHIAEE
Bl MRERAFRIE ? BB S INE HTERE ? |
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